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1. BEBBROL
(1) BEINE
OEAEERL =5 20,000 20,000 0
EAPERLSIRA 20,000 20,000 0
QEZ I =7~10 6,170,000 6,582,000 A 412,000
SNEERAEEE 2,890,000 3,302,000 A 412,000| (INEELELH FEEHNIAZEEE 180H52F—1395)
BmESBEINA 200,000 200,000 0
HAREZEILA 900,000 900,000 0
EESEIRESEIA 2,180,000 2,180,000 0
QZmMEBE% =12~16 13,967,000 14,057,000 A 90,000
FELDHEESBIRE M) 9,632,000 9,630,000 2,000| (N EEMEESE)
FELDOEEHHE GEEFD) 665,000 757,000 A 92,000 (AFEMEESE)
HEMEREHRS 1,170,000 1,170,000 0
AAFEBESTSESHRSE 2,500,000 2,500,000 0
SNEBEABN AL & 0 0 0
DZFmEMNE =18 3,100,000 3,100,000 0
FHEIRA 3,100,000 3,100,000 0
Gk ANE = 20~21 531,000 531,000 0
HIRA 20,000 20,000 0
ZEFE 511,000 511,000 0
EEIAE = 4~21 23,788,000 24,290,000 A 502,000
CREER
OLEES = 25~42 29,068,000 29,068,000 0
& B EREN 420,000 420,000 0
HBEFY 10,667,000 10,667,000 0
EHELEE 462,000 462,000 0
et 80,000 80,000 0
REXBE 1,455,000 1,455,000 0
BIEERE 476,000 476,000 0
HERE 1,570,000 1,570,000 0
ENRI 2 A E 1,560,000 1,560,000 0
SeEOK R B 80,000 80,000 0
EiEH 590,000 590,000 0
RIEH 15,000 15,000 0
HHie 2,050,000 2,050,000 0
AR 0 0 0
T F 39,000 39,000 0
i EEE 0 0 0
ZILBRE 1,000,000 1,000,000 0
FRE 8,574,000 8,574,000 0
HE 30,000 30,000 0
QEmE = 44~59 3,128,000 3,128,000 0
% B 3REM 230,000 230,000 0
HBHFY 2,190,000 2,190,000 0
BREEE 198,000 198,000 0
=EE 30,000 30,000 0
REXEE 150,000 150,000 0
BIEERE 55,000 55,000 0
HERE 50,000 50,000 0
NI S A2 60,000 60,000 0
SEIK R 10,000 10,000 0
R 10,000 10,000 0
RIEH 0 0 0
Hite 0 0 0
it TN 0 0 0
ZHF 35,000 35,000 0
TiEEE 100,000 100,000 0
HE 10,000 10,000 0
BEERH = 24~59 32,196,000 32,196,000 0
S8 IS S IR AT L R B A = 22-60 A 8,408,000 A 7,906,000 A 502,000
EAMESMERSE 0 0 0
BEEETMmERS 0 0 0
BERMIIS MBS 0 0 0
g ET = 62~64 0 0 0
& AR R AR = 61+65 A 8,408,000 A 7,906,000 A 502,000
2. BESNMER O
(1) BENINE
EES IR 0 0 0
BE SRR =69 0 0 0
() BRENER
BENER 0 0 0
FENERE =72 0 0 0
LHEIRE M SRR =70-73 0 0 0
RS 0 0 0
4 HA — AR IF R BA pE 12 R4 = 66+74+75 A 8,408,000 A 7,906,000 A 502,000
—RERMEHRE RS 115,559,286 114,106,347 1,452,939| GRE#IBICESHZ)
—RIERMEHRES = 76+77 107,151,286 106,200,347 950,939
I 5 ERRBAEEIERIOER
ZHEE S 0 0 0
— AR IEBRBA EEADIRE 28 0 0 0
L e E KB RIS RAE = 80+81 0 0 0
EE ERM EHEES 0 0 0
EEEKRMESRRES = 82+83 0 0 0
I ERMEHRES = 78+84 107,151,286 106,200,347 950,939
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1. BEBROL
(1) BEINEE
OEKRB EERE =5 0 0 0 0 0 20,000 0 20,000
HABERLSINA 0 0 0 0 0 20,000 20,000
Q= Z£ I =7~10 2,750,000 1,130,000 900,000 1,390,000 3,420,000 0 0 6,170,000
SNEEARETS 370,000 1,130,000 0 1,390,000 2,520,000 0 2,890,000
BSmMENBSIA 200,000 0 0 0 0 0 200,000
HAREZEULA 0 0 900,000 0 900,000 0 900,000
EMEIREEERA 2,180,000 0 0 0 0 0 2,180,000
QZREEE =12~16 13,967,000 0 0 0 0 0 0 13,967,000
FELDHE SIS (BHMEAR) 9,632,000 0 0 0 0 0 9,632,000
FELDHEESHBE (FETE) 665,000 0 0 0 0 0 665,000
HMEMRENMRE 1,170,000 0 0 0 0 0 1,170,000
BAFEBESTESESPRE 2,500,000 0 0 0 0 0 2,500,000
SEREABI R & 0 0 0 0 0 0 0
@FmEMNS =18 1,000,000 0 0 0 0 2,100,000 0 3,100,000
FHSIRA 1,000,000 0 0 0 2,100,000 3,100,000
(O IE:S = 20~21 16,000 0 5,000 0 5,000 510,000 0 531,000
HUXA 15,000 0 5,000 5,000 0 20,000
ZEF R 1,000 0 0 0 510,000 511,000
EEINEEE = 4~21 17,733,000 1,130,000 905,000 1,390,000 3,425,000 2,630,000 0 23,788,000
)REER
OEES = 25~42 27,188,000 770,000 170,000 940,000 1,880,000 0 29,068,000
% B RN 420,000 0 0 0 0 420,000
HMEF L 9,597,000 100,000 100,000 870,000 1,070,000 10,667,000
BAHEEE 459,000 1,000 1,000 1,000 3,000 462,000
=i 80,000 0 0 0 0 80,000
RERXEE 1,305,000 150,000 0 0 150,000 1,455,000
BIEEWRE 407,000 23,000 23,000 23,000 69,000 476,000
HELE 1,480,000 30,000 30,000 30,000 90,000 1,570,000
FNRISAE 1,560,000 0 0 0 0 1,560,000
SeEok k& 62,000 6,000 6,000 6,000 18,000 80,000
S8 569,000 7,000 7,000 7,000 21,000 590,000
HRig 15,000 0 0 0 0 15,000
e 1,950,000 100,000 0 0 100,000 2,050,000
AR R 0 0 0 0 0 0
SHFHH 30,000 3,000 3,000 3,000 9,000 39,000
/N Lk 0 0 0 0 0 0
ZHBIRS 1,000,000 0 0 0 0 1,000,000
RiE 8,224,000 350,000 0 0 350,000 8,574,000
HE 30,000 0 0 0 0 30,000
QOE®EE = 44~59 3,128,000 0 3,128,000
% B 3REN 230,000 230,000
WHEFE 2,190,000 2,190,000
EBAELEE 198,000 198,000
BB 30,000 30,000
REXBE 150,000 150,000
BIEERE 55,000 55,000
EERE 50,000 50,000
ENRI S A2 60,000 60,000
SeEKE B 10,000 10,000
S5 10,000 10,000
s 0 0
Hte 0 0
AR 0 0
T FEH 35,000 35,000
S N-Fik o 100,000 100,000
HE 10,000 10,000
BEERH = 24~59 27,188,000 770,000 170,000 940,000 1,880,000 3,128,000 0 32,196,000
S48 25 % SR AT 2 AR B 1R %A = 22-60 A 9,455,000 360,000 735,000 450,000 1,545,000 A 498,000 0 A 8,408,000
EAMESMERSE 0 0 0 0 0 0 0
BEEETMmERS 0 0 0 0 0 0 0
BERMIISTMmIE RS 0 0 0 0 0 0 0
FFfiie 4 5t = 62~64 0 0 0 0 0 0 0 0
LR A = 61+65 A 9,455,000 360,000 735,000 450,000 1,545,000 A 498,000 0 A 8,408,000
2. BESMEH DR
(1) #BE SN
BE U 0 0 0 0 0 0 0 0
BRI = 69 0 0 0 0 0 0 0 0
(2)FENER
BENER 0 0 0 0 0 0 0 0
BENERE =72 0 0 0 0 0 0 0 0
LR ESMERAE =70-73 0 0 0 0 0 0 0 0
RS 0 0 0 0 0 0 0
44 1A — AR IE BR BA B2 1 R AE = 66+74+75 A 9,455,000 360,000 735,000 450,000 1,545,000 A 498,000 0 A 8,408,000
—REKRMEHEES — — — — — — — 115,559,286
— R IEREMERRES = 76+77 — — — — — — — 107,151,286
I {55 EBREAEIEBOER
SIS S 0 0 0 0 0 0 0 0
— AR IE BRBA EEADIRE 58 0 0 0 0 0 0 0 0
L HATE X IE R BA E 1 R AR = 80+81 0 0 0 0 0 0 0 0
R ERMENEES 0 0 0 0 0 0 0 0
EEEKRHESRRES = 82+83 0 0 0 0 0 0 0 0
I ERMELHERES = 78+84 — — — — — — — 107,151,286




